Topic: Chapter 7
QUESTIONS

TEXTBOOK
Page(s)
ANSWERS
	How many elements are in binary compounds?

	Pg 220
	2 elements.

	How is the negative monatomic ion 
name created?
	Pg 225
	You drop the ending of the element, and add the suffix –ide.


	How can oxidation numbers used?
	Pg 230
	Oxidation numbers can be used in naming compounds, writing formulas, and balancing chemical equations.

	What can be calculated from the chemical formula of a compound?
.
	Pg 231
	Formula mass, molar mass, and percentage composition can be calculated from the chemical formula for a compound.


	What does an empirical formula show?
	Pg 229
	An empirical formula shows the simplest whole number ratio of atoms in a 
given compound.

	Name an example of an anion.
	Pg 221
	F- (Fluoride 
anion)

	Name an example of a cation
	Pg 220
	K+ (Potassium cation
)

	What are monoatomic ions?
	Pg 221
	Monoatomic ions 
are ions that are formed from a single atom.

	What are oxyanions? 
	Pg 225
	Oxyanions 
are polyatomic ions that contain oxygen.



	SUMMARY:
	A positive monatomic ion’s name is the name of the element. A negative monatomic ion


	
	Is named by dropping parts of the ending of the element’s name and adding –ide 
to the 

	
	root. The charge of each ion in an ionic compound may be used to find the simplest

	
	formula. Binary compounds have two elements, binary ionic compounds are named by 

	
	combining the names of the ions. Oxidation numbers are useful in maing
 compounds, 


balancing equations, and writing formulas. By using oxidation numbers, we can name compounds without knowing if they are ionic or molecular
. An empirical formula shows the simplest whole number ratio of atoms in a given compound.  
�Table on p 228


�What is a monatomic ion?


�For the positive monatomic ion, just use the element’s name


�How can this be calculated?


�Also indicates how many atoms are in the compound


�Note how name has –ide at ending


�What distinguishes a cation from an anion?


�Use pg 221 for table


�-ate means that the ion has the greater number of oxygen


-ite means that the ion has the lesser number of oxygen.


�This is only for ionic bonds.


�typo


�Explain how.





